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Please Print Name

Review Questions from Chapter 6 of Managing Financial Risk

(Circle the best answer.)

1. An interest rate swap usually involves:





   (a) swapping debt maturities.

   (b) swapping fixed interest rate payments for floating interest rate payments.

   (c) swapping interest rate tax liabilities

   (d) swapping debt principal payments.

2. Usually, interest rate swaps are:






    (a) done directly between the two counterparties.

    (b) arranged by government regulatory agencies.

    (c)
arranged by financial institutions.

    (d)
arranged by the World Bank.

 3. In an interest rate swap, the firm wishing floating-rate debt:


    (a)
issues fixed rate and is obligated to make fixed-rate payments to its bondholders only if floating-rate payments are received from the other counterparty.

    (b) issues fixed-rate debt and is obligated to make fixed-rate payments to its bondholders regardless of whether it receives floating-rate payments from the other counterparty.

    (c) issues floating-rate debt and is obligated to make fixed-rate payments to its bondholders regardless of whether it receives floating-rate payments from the other counterparty.

    (d) issues floating-rate debt.

4. In an interest rate swap:








    (a) there is no credit risk associated with receiving the promised interest rate payments.

    (b) the swap dealer faces no credit risk; only the counterparties are exposed.

    (c) counterparty credit risk has been assumed by the swap

          dealer.

    (d) the swap dealer assumes the risk of each counterparty defaulting on its respective principal payments.

5. An interest rate swap is:








   (a) a loan from a commercial bank.

   (b) a financial transaction where two borrowers exchange interest payments on their respective debts.

   (c) an exchange of dividend payments.

   (d)a swap of debt covenant terms.

6. Swaptions are:








   (a) options on futures.

   (b) options on forwards.

   (c) swaps of options.

   (d) options on swaps.

7. One reason interest rate swaps exist is that:




   (a) interest rates are lower because it is easy to fool investors about the

        credit worthiness of a company with interest rate swaps.

   (b) industrial companies are not permitted to issue fixed-rate debt.

   (c) commercial banks are not permitted to issue     floating-rate debt.

   (d)
interest rate swaps allow interest rate risk to be separated from credit   risk.

 8 A currency swap is:








    (a)
an exchange of floating-rate payments for fixed-rate payments.

    (b)
an exchange of one currency for another currency in the spot exchange market.

    (c) an exchange of interest payments denominated in one currency for interest payments denominated in another currency.

    (d) an exchange of debt covenant terms in one country for those in another country.

9.  Circus swaps are:









    (a) basis swaps.

    (b) puttable swaps.

    (c) cap swaps.

    (d) combined interest rate and currency swaps.

10. In efficient markets, the value of an outstanding interest rate:

    (a) should always be zero.

    (b) will change as interest rates change.

    (c) will never change.

    (d) will change only if the credit standing of one of the counterparties changes.

Review Questions and Answers from John Smith’s Dialog

11. Q281 Aside from a possible lack of immediate market, what is the major complicating factor in estimating a derivative's value and risk according to John Smith?

12. Q629  Why is the FASB considering allocating derivative gains and losses between net income and comprehensive income?
Question from Case 10-6 on Page 526 of the S&C textbook.

13.  How does recording of estimated future losses from redeeming coupons for movie tickets differ from estimated future losses from an uninsurable building in a high risk flood plain?


Question from Working Paper 231

14.  How do Methods 1, 2, and 4 differ in terms of reported Swap Receivables and Swap Payables of both counterparties of an interest rate swap.  Assume Company A swapped variable rate interest in exchange for Company B’s fixed rate interest. The answers that I am looking for here were called “Noteworthy Attributes in Working Paper 231.

Question from Part 9d of Practice Examination 1

15. 9d What has been the impact of Swaps 1 and 2 on the original $ 100 million dollar loan interest expense of the “Client”?  You can answer this question in general without knowing the entire history of LIBOR over the five-year span.
